JL_

OrnpeneneHue CTOPOHbI IO NEPUMETPY

Nwms:

Omnpeneaure 3navyenue 'P'

1) Tlepumerp =32

2) Tlepumerp = 18

3) Ilepumerp =16

OTBeThI

2.
10
T 3
3.
L
4.
4) Tlepumerp =22 S) Tlepumerp =10 6) Ilepumerp =10
2 5.
L D 2]
L L 6.
5
7.
8.
7) Tlepumerp = 16 8) Tlepumerp =30 9) Tlepumerp = 38
10 9,
’ L 10
11.
10
12.
10) Tlepumerp =24 11) Tlepumerp =28 12) Tlepumerp = 30
L 6 6 13.
14.
L L L
15.
2
13) Tlepumerp =20 14) Tlepumerp =20 15) TIlepumerp = 34
3 7
L
L L
8
M 1-10 [93[87[80 (73] 67] 60|53 [47[40]33]
ATCMATHKA 4 o\ commonCoreSheets.ru 11-15127120]13] 7] 0




=

OrnpeneneHue CTOPOHbI IO NEPUMETPY

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Omnpeneaure 3navyenue 'P' OTBeTHI
1) Tlepumerp =32 2) Tlepumerp = 18 3) Ilepumerp =16
1. 6 cm
6 3 3
6 6 S b 5 3cm
10 10 - 3
3. 5 cm
b
4. 6 cm
4) Tlepumerp =22 S) Tlepumerp =10 6) Ilepumerp =10
5. 3cm
S 2 3
B D 3 2 ]2
6 b 3 B 6. 3cm
> 7. 5 cm
3 5 cm
7) Tlepumerp = 16 8) Tlepumerp =30 9) Tlepumerp = 38
5 10 10 9. 9 cm
3 3
B 10
10. cm
b 9 ) ‘
10
11. 8 cm
10
12. 9 cm
10) Tlepumerp =24 11) Tlepumerp =28 12) Tlepumerp = 30
13. 7 cm
2 6 6
14 3cm
0] (1w E ; B 9
A 15. 9 cm
= 6
13) Tlepumerp =20 14) Tlepumerp =20 15) TIlepumerp = 34
3 7 8
B 3
L 7 7 9 0
3
8
M 1-10 |93 [87[80[73 [ 67|60 |53 |47 [40]33]
ATCMATHKA 4 o\ commonCoreSheets.ru 11-15127120]13] 7] 0




	Рабочий лист
	Ключ к правильным ответам

